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Part: A 

1: Click on the Exhibit button.  

You are dispatched to engineer a Converged Office solution with Remote Call Control.  

Which component in the exhibit performs the SIP CTI/TR87 functionality? 

 

A.Application Proxy server 

B.Network Connect Service 

C.Active Directory 

D.Signaling Server 

Correct Answers: D 

 

2: Which statement most accurately describes the function of the Media Gateway Controller 

(MGC) card in a Communication Server (CS) 1000E Rls. 5.0 system with Nortel Converged 

Office? 

A.The MGC supports peripheral cards for TDM services. 

B.The MGC provides basic call processing functions for the CS 1000E. 

C.The MGC provides a gateway controller for IP media gateways in the CS 1000E. 

D.The MGC acts as a Terminal Proxy Server (TPS) or virtual line card for the IP Phones. 

Correct Answers: C 

 

3: Your supervisor has asked that you verify the licenses for the Communication Server (CS) 

1000E as part of a Nortel Converged Office solution for a large customer. Which CS 1000E 

license provides the virtual trunk functionality between the Office Communicator 2007 clients and 

the CS 1000E users? 

A.AST 

B.TLSV 

C.SIP Access Ports 

D.SIP CTI TR87 

Correct Answers: C 



 

4: In preparation for the ordering of a new Nortel Converged Office solution, you need to verify 

that all the licenses for the Communication Server (CS) 1000E licenses are part of the order 

request. Which CS 1000E license provides the twinning functionality on the CS 1000E Call 

Server? 

A.AST 

B.TLSV 

C.SIP CTI TR87 

D.SIP Access Port 

Correct Answers: B 

 

5: A company is deploying an Enterprise Edition Nortel Converged Office solution. With this 

solution, which required component balances SIP invites from the Mediation Server and sends 

them to the least busy Front End Server? 

A.Incoming Load Balancer 

B.Outgoing Load Balancer 

C.Mediation Server 

D.MCM/Application Proxy Server 

Correct Answers: A 

 

6: Click on the Exhibit button.  

A large customer needs a Nortel Converged Office solution that will support high availability for 

their 50,000 employees and allow for future growth of the organization.  

Given the diagram in the exhibit, which Nortel Converged Office deployment option would 

provide the optimum level of functionality? 

 

A.OCS 2007 Standard Edition (Small Network) configuration 

B.OCS 2007 Enterprise Edition (Medium Network) expanded configuration 

C.OCS 2007 Enterprise Edition (Large Network) consolidated configuration 



D.OCS 2007 Enterprise Edition (Large Network) expanded configuration 

Correct Answers: D 

 

7: Click on the Exhibit button.  

A new customer needs a Nortel Converged Office solution that will support high availability with 

system redundancy for their 3,000 employees.  

Given the diagram of the solution, which Nortel Converged Office deployment option would 

provide the optimum level of functionality? 

 

A.OCS 2007 Standard Edition (Small Network) configuration 

B.OCS 2007 Enterprise Edition (Medium Network) expanded configuration 

C.OCS 2007 Enterprise Edition (Large Network) consolidated configuration 

D.OCS 2007 Enterprise Edition (Large Network) expanded configuration 

Correct Answers: B 

 

8: A manufacturing company with a Nortel Converged Office solution would like to allow their 

employees Instant Messaging capabilities with third-party Instant Messaging services using 

federation. Which Converged Office Server will provide this capability? 

A.OCS 2007 Front End Server 

B.OCS 2007 Web Conferencing Server 

C.OCS 2007 Proxy Server 

D.OCS 2007 Access Edge Server 

Correct Answers: D 

 

9: A company is planning to deploy a new Communication Server (CS) 1000E with Nortel 

Converged Office. They want to provide media security (SRTP) to encrypt the IP media path to 

and from all of the DSP channels.  

Which EC Report shows the correct components? 



 

Correct Answers: A 

 

10: A company is deploying a Standard Edition Nortel Converged Office solution on their current 

Communication Server (CS) 1000E network. In this configuration, which Front End Server 

component converts a dialed number into E.164 format, based on the normalization rules defined 

by the administrator? 

A.User Services 

B.Inbound Router 

C.Outbound Router 

D.Translation Service 

Correct Answers: D 

 

 


